
Paper Code No.: 31 
HALF YEARLY EXAMINATION 2017 

STATISTICS 
HSE (I) Maximum : 60 Scores 

Time: 2 hours 
Cool off time : 15 Minutes 

General Instructions to candidates: 

• There is a 'cool off time' of 15 minutes in addition to the writing time of 2 hours. 
• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read the questions carefully before answering 
• Calculations, figures and graphs should be shown in the answer sheet itself 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary 
• Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall. 

• Use of statistical tables are allowed. 

• 
• 
• 
• 
• 
• 

• 

mlc8131rills cru0wcmmlm n.JJO@rll 15 01m1~ 'c0,Ju8 63'.)n.O @@so' g26llsOW10lc0060 • 

g2Ccm))06ffi3u8 a(j)'l'J®6cm®1CD rllJCl1J ~.c,_j0Bc\6ffi3u8 Lcm®On.JJ©qjo OJOW1c006mo . 

cfu6mcOO cfuJ3 8..16cfuu8, .c,_J1L®6ffi3u8, L(l)On.06c0,u8, a(J)cmlru g2cmm0~n.Jc;80lro8cmm@cm g26llsOW10lc006mo . 

~.c,_jOBc\6ffi3u8 rll8.JWO~cmm18..16o mro8c0,lwl36~ . 
ffi10 OJ cm c\ 0 6 ~ cruo 8..1 cmm cru r2l OJOcfu c\ 6ffi3u8 @cfuO s ;i c006mo 

~Ln.JOL(l)Orll6cfuu8 @.c,_jcg>OffiOcfuOcmm cfuOro8c006~8..1$?0Jcfuu8 63'l'61@cfu<1llJ~ 6306 gQ8.lcfu~LS06mlcfu g2n.Jcfu06mOJ6o 

n.J<1l"lcfh'l:10n.D0~1ro8 g2n.J~WO(l)1cOOOCW n.JOS1~. 

Q]0$?1?]1cOOro8 n.J31cfucfuu8 g2n.J~(1l)'.)(1)1cOOOOJ6cm®06m . 

Question number 1 to 12 carries 2 mark each. Answer any 10 questions (2 x 10 = 20) 
C:.!1...1:JB~o 1 III~@~ 12 (l.J6)(l) 2 111:J@cl)6) ru'l@o. aj}6)@ffi>l~~o 10 C:.!1...l:JB~6lffiC/3cl)6) ~am»Cl>6)111YJ~CID~cfb. 

1. (a) The arithmetic mean of two 

numbers is 25 and their harmonic 

mean is 23.04. Find their Geometric 

Mean. 

1. (a) ©6TB cruoru~c0,~6@s 12lJCD~o 25 g20 

nDJ©<lll2lJ6lnlcfh 12lJCD~o 23.04 g2o 

<IDQ)CQJJm8 m~Jl2ll<m1CQJl2lJCD~o cfh6Tls6n.J1s1 

c06)Jcfh. 

(b) The mode and mean of a 

distribution are 32 and 35 

respectively. Find the median value 

using empirical relationship. 

(b) 63©6 ru1<m©6ln(ITT())1@CTR <lll2lJCW 32 g20 

12lJCD~o 35 g2o <IDQ)6TD. nq)on.J1©1c06)m8 

6TlJffiDo g2n.J<JlCQJJ(f)1~ 12l1CW1CQJ® cfh6TlsJ 

n.J1S1c06)6cfh. 



2. Match the following. 

i. cso (a) Nodal agency 
of the state 

ii. NSSO (b) Compilation of 
national accounts 

iii. ISi (c) Conducting socio 
economic survey 

iv. Economics (d) Publishing 
and Statistics Journal 
Department SANKHYA 

3. State whether the following statements 
are True or False. 

(a) The value of standard deviation is 
always positive. 

(b) If two variables are uncorrelated 
then covariance between them is 
zero 

(c) If each observation is added by a 
constant, Standard deviation 
remains the same 

(d) Range doesn't depend on extreme 
values 

4. Which type of average is most suitable 
for the following situations? 

(a) To find the average performer in 
light music competition 

(b) To find the average size of 
footwear. 

(c) To find average speed of the metro 
train from Alwaye to Maharajas 
college Junction and return. 

(d) To find the average percentage 
increase of population of a country 
for last 5 years 
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i. cso (a) cru ocru_o J m (ITT()) l@OR 

<llm Jcwm8 nfil mo3cru1 

ii. NSSO (b) <llB cm 1 CQJ cfh6TT)c06) 6 c0, u3 
(0) CQ) :)0 :)c06) m8 

iii. ISi (c) cru J 0 4 nD 7c0, cru JCTlJ 

(ITT()) 7c0, crud\ Cl (}l c0, u3 
ms (ITT()) 6 c0,. 

iv. 2!2 c06) Cl 6TT):) 12) lcfh (d) cru Jo 6lJ ~ <ll m c3 6lnm8 

& cruJglcrulcfhrn 
00 00 

Ln.J crul rm 1 c0, a>l c06) 6 cm 6 
rul@J(f)o 

3. ® J@ !9 nJ o CQJ 6 cm L nJ cru ® J ru m c0, u3 cm m 1 Cl CQJ J 

6) ® <llg:) nm cm c n.Jcru ®:) ru 1c06) 6 cfh. 

(a) ?J,lJ®<llcwdlcu3' cw1ru1<JlCQJn'11@CTR ruli:::u 

n©<lli::P!9Jo (Jln.J:)(f\)1g1ru <IDQ)CQJ1©1c06)Jo. 

(b) crunD6TlJffiDo 2!2 ~ J(ITT()) 06m' n.J©6ID3~6@s 

<JlcfhJ<JlOJ©lCQJ@cru n.J4m~o <IDQ)CQJ1©1c06)6o. 

( c ) @J<ll©J ruli:::uc0,~6@sCQJ60 c0,4@s @Cl© cru_olm 

cruoru~ c0, 431 CQJJm8 ?J,l:)®Clcwc3cu3' 

cw1ru1<JlCQJn'11@CTR ru1i:::uCQJ1m8 0Jgo g26TlsJ 

rul~ 

( d) <IDo g (ITT()) 6 ~ rul i:::u c0, u3 @ o CQJ1 6W.J1@ m 

cruJJCD1 m1c06)6 cml~. 

4. (0):)6)!9 ®cm1©1c06)6cm cruJnDn.J©~6ID3~1m8 g2n.J 

<JlCQJJ(f)1c06)Jcm ofilgOJJo g2n.J1®12lJCQJ cm©Jcm©l 

n(B<m? 

(a) @06 i:::u~l®(f)Jm 0mru0(ITT())l@i:::u cmmJcmml 

L n.Jcfh s mo ms (ITT()) 1CQJ <IDQ)@ ~ c0,@ 6Tls (ITT()) 6 
cm®1CD. 

(b) nJ JB ©cfh9:1 CQJ 6@s cm m J cm m 1 <IDo~ cl c0, 6Tls 6 
n.J1S1c06)Jcm®1CD. 

(c) @12l<llLSJ ®10J6Tls1CQJ6@s <IDQ)E:UJOJ 12l6®m8 

12lnD:) (():)@;!:)Cf\) <Jlcfh:)<Jl~m @:i!o(f) n'i:I® 

QJ@©CQJJo ®1©1~606~ cm©Jcm©l <JlQJ(f)® 

cfh@ 6Tls (ITT()) 6 cm® 1 CD. 

( d) 63 mi m:) m ~ (ITT()) l@OR cfh !916mlID s ru m n'l1 

@(ITT()) m m cru o6lJ ~ CQJ l@i:::u cm® l2l J m c06) 6ln 

c06)1i:::u6~ rudlwmrul@OR cmmJcmml cfh@6Tls 

(ITT()) 6 cm® 1 CD. 



5. 

6. 

(a) Fo r a lepto kurtic distribution the 

va lue of /J 2 is .................... 

(i) les s than 3 (ii) more than 3 

(iii) 3 (iv) 0 

(b) For a distribution mean=20, mode 
=23 and standard deviation =2. 
Compute Coefficient of skewness. 

Biju tra vels to school from his home at 
an ave rage speed of M km/hr and 
comes back at an average speed of N 
km/hr in the same route. Find the 
averag e speed of total journey. 

7. Differentiate between absolute 
measures and relative measures of 
dispersion. 

8. The av erage wage of 25 employees in a 
factory is Rs. 780. But the wage of one 
employ ee was misread as 690 instead 
of 960, find the correct average wage. 

9. Explain the terms 

(a) Sample space 

(b) Mutually exclusive events 

10. Ages of 7 members of a club are 24, 19, 
30, 24, 26, 23, 25. Compute quartile 
deviation of ages. 

11. Draw a histogram for the following data. 

5. 

6. 

Paper Code No.: 31 
(a) 63©J 6)8.]nJ(Jlg:)cfh©31 cfu ru1<m ©6ln(ITT()) 1m8 

/3 2 rul@OR ru18.J ........... • • • • • • • • • • • • • • • • CT3lQ) 6TD. 

(i) 3 m8 cfhJOOJ (ii) 3 m8 cfh4S6<mm8 

(iii) 3 (iv) 0 

(b) @06 ru1cm06ln(ITT())l@OR 0Jw~o=20, (Jll2):)(U) 
= 23, SD = 2. (Jlcfh:)CQJn.Oln'i:t~ORV 63:)n.0 
m'5 c0, ~l m m'5 c0, 6Tls 6 nJ 1 s 1 c06) 6 c0,. 

6TlJ1mJ OJ131m8 mlcm crucfh 4~1<ll8.lc0&) M km/ 
hr cmmJcmml <JlOJ(f)@CQJ18.J6 o cm1m1~ N km/ 
hr cm m J cm m 1 Cl ru (f) cm CQJ 18.J 6 o 63Cl© OJ!91CQJ18.l4@S 
cru 6TQlJ m 1 ~ 6. <ID'Q)@cfh CQJ J L cm CQJ6@s cmmJ cmml 
Cl ru (f) cm c0, 6Tls 6 nJ 1 s 1c06) 6 c0,. 

7. cw 1 m'5 Cl nJ q5 cru 6ln 1@ 8J <IDo 6l1J cru 8J ~l § @ 0 Cl n'i:I 
!Peru, o1Cl8.Jg1o'i 6)12l<Jldi:1!9cru omcmlru <JlQJ©(ID1 
©1c06)Jcfh. 

8. @06 cfhCTlJ m1CQJ1@8.J 25@ (IDJ!918.JJ~1cfh~J6)5 
cm©Jcm©l ClOJ<mmo 780 ©4 n.JCQ):)6TD. 63©J 6)(IDJ!91 
8.JJ~1CQJ6@s ClOJ<mmo 960 m n.Jcfh©o 690 <ID'Q)CQJ1 
@<mgJCQJ1 (Jl(1)6lJ6)<;½:j5J(ITT())1 CQJ cm J CQJ 1 c0, :)611)@ <;½:J 

3J6)0Jffi>lm8 cm©Jcm©l Cl ru cm m o c0, 6Tls 6 nJ 1 
S1c06)6cfh. 

9. <mJ@!P n.JOCQJ6cm n.JB6ID3u3 rulcmr31c0,0lc06)6c0,. 

(a) cru :)CTlJ 1cm m'5 Cl nJ m'5 

(b) 12l~4nJJ8.Jl nq)cfucru~icru1ru1 2!20JORV m'5 

10. 63©J ~Jcru1@8.J 7 CTm)o(f)6ID3~J6)5 QJCQ)cru 24, 
19, 30, 24, 26, 23, 25 <ID'Q)6TD. QJCQJ(f\)Jcfh~J6)5 
cfhJJc3@@3m8 cw1 rul<JlCQJn'i:I® cfh6TT)c06) Jc06) 6 c0,. 

11. cmcm1m1c06)6cm cwJgcri5c0&) nDl<ll?JPL(f)Jo rum 
cri5 c06) 6 cfh. 

No of students 20-30 30-40 40-50 50-60 60-70 70-80 

No ofhostels 3 7 

12. The grade points obtained by a student 
in an examination are given below. 

Malayalam English Hindi 

6 8 7 

It is decided to give double weights to 
subjects Social Science and Mathe­
matics. Find weighted average. 

18 

112. 
15 4 1 

63©J n.J©1cM:1CQJ1m8 OJ1<3~Jc3L01c0&) 8.J<sl~ <Jll(f)(U) 
<lln.JJCQJORV m'5 cmcm1m1c06)6cm6. 

Social Science Science Mathematics 

6 

3 

8 9 

cruJl2l4nD~cmJm'5L<mo, (f)6ln1<mcmJm'5L<mo omcm1 
ru1n'i:ICQJ6ID3CJ3c0&) 2!2© 3 04 8.l ~ o m 8Jcfh J® cm 1 m 6 
12lJm1~6@0J ffi, 1m8 @QJ CQJ1g CW <ID'Q)QJ ClO m cfh6TT) 
c06) :)c06) 6 cfh. 



Paper Code No.: 31 
Question number 13 to 24 carries 3 mark each. Answer any 10 questions (3 x 10 = 30) 

C:.!1...1:JB~o 13 III~@~ 24 (l.J6)(l) 3 111:J@cl)6) ru'l@o. aj}6)@ffi>l~~o 10 C:.!1...l:JC3~6lffiC/3cl)6) ~am»Cl>6)111YJ~CID~cfb. 

13. (a) The branch of Statistics used to 
determine the life table and 
premiums in insurance sector are 

(i) Bio statistics 

(ii) Agricultural statistics 

(iii) Actuarial science 

(iv) NSSO 

(b) Write a short note on MOSPI. 

14. Which method is most suitable to 
collect the data for each of the following 
situations? 

(a) Study the feasibility of starting a 
production unit of a company in 
your locality. 

(b) Prepare a report for media on 
under 17 football match held at 
Cochin. 

(c) Study effectiveness of a face cream 
manufactured by ABC Ltd, 
Mumbai. 

15. The following diagram represents the 
monthly expenditure of two families A 
and B. 

100% 

80% 

60% 

40'% 

20% 

0%, 

Family A 

(a) Name the diagram. 

(b) Find the percentage expenditure of 
education for Family A. 

(c) If the total monthly expenditure of 
Family B is Rs.6000 then find the 
amount they spent for food. 

13. (a) 2!2®n'l16oo3cru <lll2l6lJ8.JCQJlm8 m1rulcm n.J31 

cfhCQJJo Ln.J112l1CQJOJ6o cfh6Tls6n.J1Slc06)6cm 

cm 1 m cru nD J CQJl c06) 6 cm ?JP g 1 ?;}l 1 cfh cru 
rul@J(f)o ............................. . 

(i) 6TlJ(JlCQJ:)?;}lJgl?Jllcfhcru 

(ii) CTno L (f) 1c06) m8-3,1 o m8 ?J,l Jg 1 ?J,l lcfh m'5 

(iii) ®q)cfhnJ~4o1CQJm8 cruCQJ®cru 

(iv) NSSO 

(b) MOSPI 6)CQ) cfhJOl~ 8..lne.JJcfhJOl~ Oij)!PJ 

®Jcfh. 

14. (0):)6)!9 @cfhJSJ(ITT()) 63:)<Jl©J cruJnDnJ©~(ITT())l8..16o 

ru 1 ru ©<ll cmru ©6ln(ITT()) 1 m nfil g ru 6 o CTno m 6 <ll CQ) J m ~ 

12):)CQ) ©1<m1 n(B<m? 

(a) m16ID3~6@s Ln.J<llBcmm @©6 mlc3IZlllJ6ln 

CQJ46lnlg' ®JS6ID36cmcmlm6~ cruJCD~<m 

6)CQJc06)J01~ n.J01c06)6cmcmlm. 

(b) @cfh J-3,jl CQJ1m8 ms cm CTno 6Tls c3 17 
n.o i s Cl 6TlJ :) cm 0 mru (1) (ITT()) 1 @ OR 0 :) w ~ 0 

Ol<lli::Pdl§ ®CQJJ0Jc06)6cmcmlm. 

(c) ABC 8..1l0lgcw 060@@6TlJ mlc312l2l1-3,I @©6 
<Jln.ocrucc0, 101@0R Ln.J<JlCQJJmm@(ITT())c06)Jo1~ 

n.J01c06)6cmcmlm. 

15. (0):)6)!96)cfh:)SJ(ITT()) nJlL<mo A, B omcm1 ©6IB 

c0,6s 606TlJ6ID3~6@s Ln.J<ml0Jcru @nJ8..IOJ6cfhu3 

c0, J 6ln 1 c06) 6 cm 6. 

.Others 

.Education 

0Rent 

.Clothing 

.Food 

Family B 
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(a) nJlL<m(ITT())l@OR <lln.J© n.JOCQJJcfh. 

(b) c0,6s 606T1Jo A CQJJ@S rulB~JB~Jcru 6)nJ8.J 

rul@CTR cmcm0Jmo cfh6TlsJn.Jlslc06)6c0,. 

(c) c0,6s 606T1Jo B CQJJ@S ®Q)@cfh Ln.J<ml0Jcru 

@ n_18..1 ru 6000 © 4 n.JCQ):)6)6TT)ffi, 1m8 (scM:1611) 

(ITT())l@OR Ln.J<ml0Jcru @nJ8..IOJ n©L<m? 



16. The following distribution is the ages 
of 360 patients getting medical 
treatment in a hospital on a day. 

Age 0 - 10 10 - 20 

No of patients 75 25 

Compute Modal age of patients. 

17. Mean oft he data given below is 28. 

Find thev alue of x. 

Profit per retail shop (in Rs) 0-10 

Number of retail shops 12 

18. Prepare a questionnaire to study on 
usage of social media among higher 
secondary students in Kerala. 

19. Construct the skeleton of a table to 
represent the details of students in a 
Higher Secondary School. 

( Batch: Science, Commerce, Humanities 
Class : Plus one, Plus two, Gender: 
Male, Female) 

20. In two factories A & B located in an 
industrial area, the mean weekly wages 
(in rupees) and variance are as follows 

Paper Code No.: 31 
16. 63 m 6 <IDQ) cm 6 nJ um 1 CQJ 1m8 63 m 6 B lru cru o il...flc0, lmru 

8.Jtslc06)6cm 360 <ll©Jcnlc0,~6@s OJCQJcrul@OR 

ru1@©6TT)o n.JJQJ@S 6)c0,JSJ(ITT())1©1c06)JCTDJ. 

20 - 30 30 - 40 40 - 50 50 - 60 60 - 70 

45 50 80 55 30 

(Jl(1):)(f)1c0,~6@s ruCQJcrul@OR (Jll2):)(U) c0,6TTsJ n.J1s1 

c06)Jc0,. 

17. n.J6ru@s @cB,JSJ(ITT()) Clrng CQJJ@S 12lJCD ~o 28 
<IDQ)6TD. om ffi> 1m8 x @OR rul 8.l c0, :)611) 6 c0,. 

10-20 20-30 30-40 40-50 50-60 

18 27 X 17 6 

18. (Jlc0,(1)~(ITT())1@8.J nDCQJ© 6)(f\)c06)6Tls01 OJ1<3~Jc3L01 

cB, ~ 6@5 cru Jl2l4 nD ~ l2l J CD~ l2l g2 nJ Cl CQJJ (f)6)(ITT())c06) 6 
ol~ n.J01c06)J® <lln.JJB~JOJ8.J1 ®CQJJOJc06)6c0,. 

19. 6306 n0CQJ0@cruc06)6Tlso1 cruc0,4~7@8.J ru7B~Jc3L07 

c0,~6@s ru1rum6ID3u3 Ln.J<m1m1w1c0,07c06)6cm 

n.J 31c0,CQJ6@s n.J 3 c06)4s @CQJJOJc06)6c0,. 

( Batch: Science, Commerce, Humanities 
Class : Plus one, Plus two, Gender: 
Male ,Female) 

20. 63©6 ru~JrucruJCQJlc0, Ln.J<llBCR>@(ITT()) A, B omcm1 

m6Tii c0,CT1J ml c0, ~ 6@s Ln.J<ml OJJ© <llOJ<m 

m6ID3~6@s 12lJCD~OJ6o <llOJ©1CQJ@cru6o (m4n.J 

CQJ1m8) cmcm1m1c06)6cm6. 

Factory A Factory B 

No. of workers 

Mean weekly wages 

Variance 

Find out which factory has greater 
consistency in wage distribution. 

21. The following is the number of books 
read by 28 students in a class. 

I Books 
No. of students 

Calculate mean deviation about mode 
of books read. 

1 
6 

5 

50 60 

810 960 

100 144 

<llOJ cm m ru1<m©6ln(ITT())1m8 c0, 4 s 6 cmm8 cru_olmcm 

CQJ J~ c0, CTlJ m 1 nfil@ cmcm c0,@ 6Tls (ITT()) J c0,. 

21. 63©J ~Jcru1@8.J 28 cB,J3lc0,CJ3 QJJCQJ1~ n.JJcru<m 

c0,6ID3~J@S n©6mo (ID:)6)!9 <mcm1©1c06)6cm6. 

2 3 4 
12 5 3 

<lll2lJCW <IDQ)CDJ m 12lJc06)1 01o3cw1 rul <llCQJ rfrl® 

c0, 6TT) c06):) c06) 6 c0,. 



22. In a distribution sum of upper and 
lower quartiles is 100, Median is 48 and 
Bowleys coefficient of skewness is 0.2. 
Calculate the values of upper and lower 
quartiles. 

23. (a) P (Sure event) is .................. . 

(i) 0 

(ii) 0.5 
(iii) 1 

(iv) between 0 and 1 

(b) A box contains 7 red, 3 black and 6 

blue balls. A ball is drawn at 
random. Find the probability of 
selecting 

(i) a black ball 

(ii) a ball which is not blue. 

24. Draw rough frequency curves 
representing symmetric, positively 
skewed and negatively skewed 
distributions and locate the values of 
mean, median and mode. 

Paper Code No.: 31 
22. 63©6 ru1<m©6ln(ITT())1m8 Cl8.JJOJc3 cfhJJc3@@ 3 m8 

<IDoc;½:J© cfhJJ©@@3m8 nq)cmlOJCQJJ@S cm6c0,l00 
g2o 12l1CW1CQJ® 48 g2o 6TlJ'D~1cru ClcfhJCQJn.01 

n'i:l~Of 63:)n.0 (fl)cfh~4mcru 0.2. g2o <IDQ)CQJJCTJ8 

(Jl8.]:)QJ0 cfhJ:)ffi6)6)3m8, <IDoc;½:Jdl (Jlcfh:)ffi6)6)3m8 

omcmlru CQJJ 6)5 rul 8.Jcfh(R) cfh6TT)ci36) :)ci36) 6 cfh. 

23. (a) P ( n'l16ruc3 2!20Jof) = .................. . 

(i) 0 

(ii) 0.5 
(iii) 1 

(iv) 0 m 6o 1 m 6o 2!2SCQJ1m8 

(b) 7 nJ 6 ru cm n.JCTID 6 c0, ~ 6 o 3 c0, o 6 (ITT()) n.JCTID 6 
c0,~60 6 m18.Jn.JCTID6cfh~6o 22~ @n.J§l 

CQJ1m8 m1cm6o OJ®CWl2lJCQJ1 63©6 n.J@CTID 

s 6d36)6cm6. <mJ@!P cmcm1©1d36)6cm m1cm1 

CQJ1CTJ8 n.JCTID @(ID ©@6mlIDS 6 d36)@c;½:JS Jm 6~ 
cruo<sJOJ~<m ( ClLn.JJ6TlJ6TlJ18.l1g1) cfh6Tls6n.J1 

S1d36)6cfh. 

( i) 63 (1) 6 cfh O 6 (ITT()) n.Jcm) 

(ii) m 18.J CQJ ~ J(ITT()) 63 m 6 n.JCTID 

24. cru10cslcfh, Cln.JJcru1g1<ii, @mcng1<ii cruc0,~4cw 
ru 1 cm m 6ln 6ID3 u3 c0, J 6ln 1 ci36) 6 cm nfil c0, c; B cm 

<IDq) QJ ~ (ITT()) 1 cfh c3 QJ 6 cfh u3 QJ (1) CQ) ci36) 6 cfh. 12):) (1) ~ 0' 

12l1CW1CQJ®, Cll2lJCW nq)cmlOJCQJJ@S mlOJffio 

<IDo s CQ) J ~ @c;½:J s 6 (ITT()) 6 c0,. 

Question number 25 to 27 carries 5 mark each. Answer any 2 questions (5 x 2 = 10) 
C:.!1...1:JB~o 25 III~@~ 27 (l.J6)(l) 5 111:J@cl)6) ru'l@o. aj}6)@ffi>1~~o 2 C:.!1...l:JC3~6lffiC/3cl)6) ~am»Cl>6)111YJ~CID~cfb. 

25. The scores obtained by 40 students in 25. 40 OJ1<3~Jc3L01cfhCJ3c06) 63©J n.J©1cM:1CQJ1m8 8.J<sl~ 

an examination are given below. (fl)ClcfhJOJcfhCJ3 n.JJQJ@S 6)cfhJSJ(ITT())1©1d36)6cm6. 

32 45 67 44 25 53 54 37 42 48 

36 46 58 65 68 78 57 68 43 23 

71 36 55 61 58 23 34 25 17 61 

59 40 14 39 60 41 56 65 33 29 

(a) Construct a frequency table to the (a) 10-20, 20-30, ...... ~Jcru6c0,CJ3 OJ©Jcm 

data with classes 10-20,20-30 ..... ©1@1CQJ1m8 <IDQ)QJ~(ITT())l n.J31cfh (IDCQ):)0:) 

(b) Find the median score. d36)Jcfh. 

(b) 12l1CW1CQJ® (fl)ClcfhJ© cfh6TlsJn.J1S1d36)6cfh. 
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26. Scores obtained by 30 students in an 
examination are given below. 

Paper Code No.: 31 
26. 63©6 n.J©1cM:1CQJ1CTJ8 30 OJ1B,pc3L01cfhCJ3c0&) 8.J<sl~ 

cru<JlcfhJOJcfhCJ3 n.JJ QJ@S 6)cfhJSJ(ITT())1©1c06)6cm6. 

Scores: 0-10 10-20 20-30 30-40 40-50 

No. of students: 2 5 12 6 5 

(a) Find the number of students scored 
below 30. 

(b) Draw less than Ogive for the data. 

(c) How many students scores below 
25? 

27. (a) Sum of absolute deviations of the 
observations is minimum when the 
deviations are taken about ....... . 

(i) Geometric mean 

(ii) Mean 

(iii) Mode 

(iv) Median 

(b) Calculate the Standard deviation of 
the following data 

Number of Children: 1 

Number of families : 7 

2 

4 

7 

(a) 30 CD (0):)6)!9 cru<Jlcfh:)0 <llmS1CQJ OJ1B,pc3L01 

cfh~J@S n©6mo cfh6Tls6n.J1S1c06)6cfh. 

(b) @8.lcruBJ® 636)6)@:i!OJ QJ©c06)Jcfh. 

(c) 25 CD (0):)6)!9 cru<Jlcfh:)0 <llmS1CQJ cfhJ31cfhu3 

n©L®? 

27. (a) ru18.Jcfh~6@s <llcfhOJ8.J ru~®1CQJJm6ID3~6@s 

®Jcfh n(Bgru6o cfhJOQJJcfhJCTD<m QJ~®1CQJJ 

m6ID3u3 . . . . . . . . . . . . m8 mlcm c0, 6TT)c06) :)c06) 6 
Cl CTlJ:) !9:) 6TD. 

(i) m~Jl2l1®1CQJ 12lJCD~o 

(ii) 12lJCD ~o 

(iii) (Jll2):)(U) 

(iv) 12l1CW1CQJCTJ8 

(b) (0):)6)!9 6)cfhJSJ(ITT())1©1c06)6CTD cwJgCQJJ@S 

?JP®<llcwdlcw cw1ru1<JlCQJrfrl® cfhJ6ln6cfh. 

3 4 5 

6 2 1 



STATISTICS 
HSE (I) 

Qn. Answer Key/Value points Score Total 
No. 

1 a) GM = JAM xHM ½ 

= J25 x23.04 1 

= 1576 
= 24 ½ 

b) Mode = 32 
Mean = 35 
Mode = 3 median - 2 mean 
32 = 3 med - 2 x 35 1 2 
32 + 70 = 3 median 

median = 102 = 34 
3 

2 cso (b) Compilation of national accounts ½ 

NSSO (c) Conducting socio economic survey ½ 

ISi (d) Publishing and statistics department ½ 2 
SANKHYA 

Economics (a) Nodal agency of the state ½ 

and Statistics 
Department 

3 a) False ½ 

b) True ½ 2 

c) True ½ 

d) False ½ 

4 a) Median ½ 

b) Mode ½ 2 

c) HM ½ 

d)GM ½ 

5 a) ii) morethan3 1 
b) mean = 20 

mode = 23 
SD = 2 

Coefficient of skewness 
mean-mode 

½ 2 = 
CJ 

20-23 
= --

2 

-3 
½ = - = -1 5 2 . 

1 



6 HM = 2 1 --
I I 
-+-
X X 

1 2 

2 

= I I ½ 2 -+-
M N 

2MN 
½ = --

M+N 

7 Absolute measure= 1 point 1 
Relative measure= 1 point 1 2 

8 - = 780,n = 25 X 

2> = nx = 25 X 780 ½ 

= 19500 

Correct 2> = 19500 + 960 - 690 ½ 

= 19770 

Correct ;: 
19770 

1 2 = --

25 

= 790.8 

9 Sample space 1 
mutually exclusive events 1 2 

10 19,23,24,24,25,26,30 ½ 

QI = 23 Q = 26 ½ 
3 

Q.D = 
Q,-Q, 

½ 2 --

2 

26-23 3 
= --= -

2 2 

= 1.5 ½ 

11 Construction of histogram 2 2 

12 Weighted mean 
LWX 

1 = LW 
6+8+7+2x6+8+2x9 

2 = 
8 

= s; = 7.375 1 

13 a) Actuarial science 1 
b) MOSPI - two points 2 3 

2 



14 a) Focus Group Discussion 1 
b) Direct observation or Any other suitable method 1 3 

c) Mailed questionnaire or Any other suitable method 1 

15 a) Percentage bar diagram or Component or sub-divided 1 
b) 20% 1 
c) % for food = 30% 

amount spent for food 
30 

= 6000 x 100 1 3 

= 1800 

16 l = 40 

~ = 50 

~ = 80 1 

~ = 55 
C = 10 

(f - f )c 
Mode = [ + 2/- f 0

- f 1 
l O 2 

= 40 + (80-50)xl0 
½ 3 

2x80-50-55 

= 40 + 300 
55 

= 45.45 ½ 

17 Mean = 28 
class f X :Ix 
0 - 10 12 5 60 
10 - 20 18 15 270 
20 - 30 27 25 675 1½ 
30 - 40 X 35 35x 
40 - 50 17 45 765 

50 - 60 6 55 330 
--

S0+x 2100+35x 

- Lfx 
½ 3 X 

= 
LI 

28 
2100+35x 

½ = 
S0+x 

28 (80 + x) = 2100 + 35x 
2240 + 28x- 35x = 2100 1 3 

-7x = 2100 - 2240 

X = -140 = 20 
-7 

X = 20 ½ 

3 



18 Questionnaire 3 3 
6 questions 

19 Plus one Plus two 

M F T M F T 

Science 
3 3 

Commerce 

Humanities 

20 Factory A 

CV = '.=:" xl00 ½ 
X 

= 10 xl00 
810 

= 1.235 1 
FactoryB 

CV = ~ X 100 1 3 
960 

= 1.25 
CV (factory A) <CV (factory B) ½ 
:. Factory Ahas greater consistency 

21 X f Ix-model fix-model 
0 2 2 4 
1 6 1 6 
2 12 0 0 1½ 
3 5 1 5 
4 3 2 QI 

28 21 
Mode= 2 ½ 

Mean deviation about mode 
If Ix-model 

1 3 = I£ 
21 

= -

28 

= 0.75 

4 



22 QI+ Q3 = 100 
Median = 48 
s = 0.2 

Q + Q - 2median 
s 3 l 

½ = 
Q3 -QI 

100-2x48 
0.2 = 

Q1-Ql ½ 

Q3 - QI 
100-96 

3 = 
0.2 

Q3 - Ql = 20 ½ 

Q3+ Ql = 100 ½ 

2Q3 = 120 
Q3 = 60 
Q3 = 40 1 

23 a. (iii) 1 1 

b. P (selection 1 black ball) 
3 

= -

16 

= 0.1875 1 3 

P (selection non blue ball) 
10 

1 = -

16 

= 0.625 

24 Proper curves 1½ 
Locating mean, median and mode 1½ 3 

5 



25 Class Tally f cf 

10 - 20 II 2 2 

20 - 30 ~ 5 7 

30 - 40 ~ II 7 14 

140 - 50 ~ Ill 8 221 

50 - 60 ~ Ill 8 30 

60 - 70 ~ Ill 8 38 

70 - 80 II 2 40 

40 2 

Median = 
l+(:-m)xc 

f 

N = 40 N = 20, 1 = 40, m = 14, c = 10, f= 8 1 5 
' 2 

Median = ( 40 ) 10 40 + 2-14 XS 2 

= 47.5 
OR 
Calculation of median using raw data 

26 a. 19 1 
b. Drawing ogive 3 5 
C. Select answer from the ogive 1 

27 a. median 1 
b. X f :Ix fx.2 

1 7 7 7 
2 4 8 16 
3 6 18 54 
4 2 8 32 
5 1 5 25 

20 46 134 2 

sd O' = Ifx2 (Ifx r \~-N 1 5 

= ~-(46r ½ 
\ 20 20 

= ,/6.7-5.29 

= )Go 

= 1.19 ½ 

6 




